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Physics / Period ________________

Mr. Graham

November, 2005
Instructions:

1. Share a computer between the two of you.

2. Go to the following website:

www.colorado.edu/physics/phet/simulations-base.html
3. Double click on the Masses and Springs.
4. Move the ruler beside spring #3.  Align the 0-cm mark with the dotted line.
5. Place the weights below on the end of spring #3 and fill in the data table below.  
	Mass (g)


	Mass (kg)
	Force - weight (N)
Hint:  mass (kg) x gravity = weight
	Distance spring stretched (cm) 

	50
	0.050
	0.050 x 10 = 0.5 
	

	100
	
	
	

	250
	
	
	


6. Using Hooke’s Law (Force = elasticity x distance) calculate the elasticity of spring #3.  

7. Set the stiffness of spring #3 to “hard”.

8. Fill in the data table below.

	Mass (g)


	Mass (kg)
	Force - weight (N)
Hint:  mass (kg) x gravity = weight
	Distance spring stretched (cm) 

	50
	0.050
	0.050 x 10 = 0.5 
	

	100
	
	
	

	250
	
	
	


9. Using Hooke’s Law calculate the elasticity of spring #3 now.
10.  Using spring #3 and Hooke’s Law, calculate the weight (g) of the brown barrel.

Remember:  force (weight) = elasticity x distance stretched

11.  Would you expect spring #3 to stretch more or less on the moon?  Why?  Try it out and see!
